

### CITY OF AURORA, ILLINOIS

# RESOLUTION NO. R20-094 DATE OF PASSAGE April 28, 2020

A Resolution Authorizing a Contract with W.E. Mundy Landscaping & Garden Center, Inc., 1135 Mitchell Road, Suite 100, Aurora, IL 60505 to extend the unit prices submitted for the Citywide Landscape Repair & Maintenance Contract.

WHEREAS, the City of Aurora has a population of more than 25,000 persons and is, therefore, a home rule unit under subsection (a) of Section 6 of Article VII of the Illinois Constitution of 1970; and

WHEREAS, subject to said Section, a home rule unit may exercise any power and perform any function pertaining to its government and affairs for the protection of the public health, safety, morals, and welfare; and

WHEREAS, This contract was last bid in 2017, and

WHEREAS, The Citywide landscaping Repair and Maintenance Program was publicly advertised and bid in conformance with City procedures, and

WHEREAS, The original contract expired December 31, 2019 with two one-year extensions possible based on mutual agreement between the contractor and the City of Aurora, and

WHEREAS, The August 2017 contract was for two years and four months with two oneyear extensions possible based on mutual agreement between the contractor and City of Aurora, for which the Department of Engineering shall have the authority to take any and all steps necessary to execute and implement the extensions stated in the contract without further approval required by City Council; and

WHEREAS, This program was budgeted annually in individual accounts for each division that participates and which will be continued on a yearly basis, but the majority of the work will be completed for the Water & Sewer Maintenance Division using account 510-4063-511-38-34 (2020 budget of \$130,000.00).

NOW, THEREFORE, BE IT RESOLVED by the City Council of the City of Aurora, Illinois, as follows: that the contract with W.E. Mundy Landscaping & Garden Center,

# RESOLUTION NO. RAD-094 DATE OF PASSAGE Opul 28, 2020

Inc., 1135 Mitchell Road, Suite 100, Aurora, IL 60505 utilizing the unit prices submitted for the Citywide Landscape Repair & Maintenance Contract is hereby approved.

### RESOLUTION NO. RESOLU

PASSED AND APPROVED ON Opril 28, 3030

AYES 12 NAYS O NOT VOTING O ABSENT O

ALDERMAN	Vote
Alderman Llamas, Ward 1	yes
Alderman Garza, Ward 2	ys
Alderman Mesiacos, Ward 3	ys
Alderman Donnell, Ward 4	ys
Alderman Franco, Ward 5	y
Alderman Saville, Ward 6	ys
Alderman Hart-Burns, Ward 7	ys
Alderman Smith, Ward 8	ys
Alderman Bugg, Ward 9	W.
Alderman Lofchie, Ward 10	yes .
Alderman Jenkins, At Large	yes
Alderman O'Connor, At Large	ys

ATTEST:



### W.E. Mundy Landscaping, Inc.

1135 Mitchell Rd · Aurora, IL 60505 Phone: 630-896-6900 www.mundylandscaping.com

December 31st, 2019

City of Aurora Department of Public Works 44 E. Downer Place Aurora, IL 60507

Attn: Kurt Muth PE

Re: ANNUAL CITY LANDSCAPING

**REPAIR & MAINTENANCE PROGRAM** 

Dear Mr. Muth:

We are requesting an extension of our Annual City Landscaping Repair and Maintenance Program contract for 2 additional years, in accordance with the provisions of the contract dated August 8<sup>th</sup>, 2017. There will be no change to the current contract pricing.

Thank you for your consideration of this request. If you should need any further information, please let us know.

Regards,

Wallace E. Mundy, RLA

Vice-President

## Chicago Tribune

Order ID: 5056809

Printed:

6/30/2017 9:16:27 AM

Page

1 of 3

\* Agency Commission not included

**GROSS PRICE \*:** 

\$339.82

PACKAGE NAME: IL Govt Legal Aurora Beacon

## Chicago Tribune

Order ID:

5056809

Printed:

6/30/2017 9:16:27 AM

Page

2 of

\* Agency Commission not included

**GROSS PRICE \*:** 

\$339.82

PACKAGE NAME: IL Govt Legal Aurora Beacon

Product(s):

SubTrib Aurora Beacon News, Publicnotices.com, classified.chicagotribune.com

AdSize(s):

1 Column,

Run Date(s): Sunday, July 02, 2017

Color Spec. B/W

#### Preview

CITY OF AURORA, ILLINOIS REQUEST FOR PROPOSAL

REQUEST FOR PROPOSAL
17-29
2017 ANNUAL CITY
LANDSCAPING
REPAIR & MAINTENANCE
PROGRAM
The City of Aurora invites you to
submit a Proposal for the 2017
Annual City Landscaping Repair
& Maintenance Program for the
City of Aurora, Illinois. Sealed
Proposals will be received at
the office of the Procurement
Division, 44 East Downer Place,
Aurora, Illinois 60507-2067 until
5:00 p.m., Tuesday, July 18, 2017.

The proposed work shall con-The proposed work shall consist of landscape restoration of various locations in the City involving but not limited to: seeding and sod, tree, shrub, and groundcover planting, topsoil placement, mulching, supplemental watering, and may include some sidewalk, brick paver, fencing and other appurtenant work related to landscaping as they arise throughout the City of Aurora.

The contract will begin in September 2017 and continue for two (2) years and four (4) months with two one-year extensions based on mutual agreement between the con-tractor and the City of Aurora.

Contractors shall submit one copy of their proposal in a sealed envelope with the words "City of Aurora 2017 Annual City Landscaping Repair & Maintenance Program" clearly marked on it. Proposals shall be submitted and the ferror furnished and ted on the forms furnished and must contain the name of every person required.

The proposals shall be evaluated and ranked by the City of Aurora. Evaluations will consider completeness of unit prices submitted, individual item price cost, together with the equipment availability, labor availability, response time, qualifications and references, and previous experience record in this type of work. The selection will not be based on cost alone. The highest ranking firm(s) shall then be intervioused as part of the selection.

## Chicago Tribune

Order ID: 50

**GROSS PRICE \*:** 

5056809

Printed:

6/30/2017 9:16:27 AM

Page

3 of 3

\* Agency Commission not included

\$339.82

PACKAGE NAME: IL Govt Legal Aurora Beacon

interviewed as part or the selec-

Any person, firm, or corporation submitting a proposal must be eligible to obtain bonding to work within the public right-ofway. Prior to the start of work that may be assigned, appropriate bond documents must be on file with the Procurement Division Office of the City of Aurora.

The City of Aurora is an Equal Opportunity Employer and encourages qualified MBE/WBE landscaping firms to submit proposals.

Inquiries and/or questions pertaining specifications of the Request for Proposal package shall be completed in writing to the Procurement Division, PurchasingDL@aurora-il.org by 12:00 pm CST, Monday, July 10, 2017. Questions may not be communicated by telephone. Questions received after this date will not receive a response.

Absolutely no informal inquiries shall occur regarding this RFP, including requests for information, or speculation between Proposer and any City elected official or employee other than that already specified.

A response to questions will be posted to the City's Website at https://www.aurora-il.org/Bids.aspx by 12:00 p.m. CST, Wednesday, July 12, 2017.

No proposal will be accepted by any contractor who has been delinquent or unfaithful in any former contract with the City of Aurora, or who is a defaulter as surety, or otherwise upon an obligation to the City of Aurora. A proposal may not be withdrawn after the opening.

The City of Aurora reserves the right to reject any or all Proposals, or parts thereof, and to waive any technicality, informality or irregularity in the Proposals received, and to disregard all nonconforming or conditional Proposals or counter-proposals and to hold the best Proposals for ninety (90) days from the opening date set forth above. The City further reserves the right to award the Proposal to the lowest responsible Proposer whose offer best responds in quality, fitness and capacity to the requirements of the proposed Work or usage and therefore is in the best interest of the City. CITY OF AURORA 7/2/2017 5056809



### Bid Tabulation Gitywide Landscaping Repair & Maintenance Program

Route Vanos
County Kane, Kendall, DuPage, 8 W/II
Local Agency City of Aurora

### Proposals Received 7/18 at 5 p.m.

			W.E. Mundy Landscaping & Garden Center, Inc. 1135 Mitchell Rd., Suite 100 Aurora, IL 60505			nper Fi Land Ser 1275 Golfvier Aurora, 11, 60	w St.	RGL II, Inc. P.O. Box 3715 Joliet. IL 60435			
IO. DESCRIPTION	UNIT	MATERIALS	LABOR*	FIXED UNIT PRICE	MATERIALS	LABOR*	FIXED UNIT PRICE	MATERIALS	LABOR*	FIXED UNIT PRIC	
1 Seed, Class 1, Type 1	SY	\$0.25	\$2.75	\$3.00	1.00	4.00	\$5.00	-		\$2.75	
2 Seed, Class 1, Type 2	SY	50.25	\$2.50	\$2,75	1.00	4.00	\$5.00			\$2.75	
3 Seed, Class 1, Type 3	SY	\$0.25	\$1.85	\$2.10	1.00	2.00	\$3.00	· ·		\$2.75	
4 Seed, Class 1, Type 4	SY	\$0.25	\$1.30	\$1.55	0.90	1.10	\$2.00			\$2.75	
5 Seed, Class 1, Type 5	LF.	\$0.10	\$1.00	\$1.10	0.50	0.50	\$1.00			\$2.75	
5 Seed, Class 1, Type 6	SY	\$0.20	\$0.50	\$0.70	0.50	0.50	\$1.00	-		\$2.75	
7 Seed, Class 1, Type 7	SY	\$0.20	\$0.30	\$0.50	0.50	0.50	\$1.00			\$2.75	
8 Seed, Class 1A, Type 1	SY	\$0.32	\$2.75	\$3.07	1.00	4.00	\$5.00		•	\$3.50	
9 Seed, Class 1A, Type 2	EA	\$0.32	\$2.50	\$2.82	1.00	4.00	\$5.00	·	-	\$3.50	
10 Seed, Class 1A, Type 3	EA	\$0.32	\$1.85	\$2.17	1.00	2.00	\$3.00	·		\$3.50	
11 Seed, Class 1A, Type 4	SY	\$0.32	\$1.30	\$1.62	0.90	1.10	\$2.00		•	\$3.50	
12 Seed, Class 1A, Type 5	IF.	\$0.12	\$1.00	\$1.12	0.50	0.50	\$1.00	•		\$3.50	
13 Seed, Class 1A, Type 6	SY	\$0.27	\$0.50	\$0.77	0.50	0.50	\$1.00		•	\$3.50	
14 Seed, Class 1A, Type 7	SY	\$0.27	\$0.30	\$0.57	0.50	0.50	\$1.00	· ·	•	\$3.50	
15 Seed, Class Special, Type 1	SY	\$0.27	\$2.75	\$3.02	1.00	4.00	\$5.00			\$4.50	
16 Seed, Class Special, Type 2	SY	\$0.27	\$2.50	\$2.77	1.00	4.00	\$5.00	-		\$4.50	
17 Seed, Class Special, Type 3	SY	\$0.27	\$1.85	\$2.12	1.00	2.00	\$3.00	· ·	•	\$4.50	
18 Seed, Class Special, Type 4	5Y	\$0.27	\$1.30	\$1.57	1.00	1.10	\$2,10	· 1	-	\$4.50	
19 Seed, Class Special, Type 5	LF.	\$0.10	\$1.00	\$1.10	0.60	0.50	\$1.10		•	\$4.50	
20 Seed, Class Special, Type 6	SY	\$0.22	\$0.50	\$0.72	0.60	0.50	\$1.10	-		\$4.50	
21 Seed, Class Special, Type 7	SY	\$0.22	\$0.30	\$0.52	0.60	0.50	\$1.10		•	\$4.50	
22   Seed, 48, Type 1	SY	\$0.70	\$9.00	\$9.70	1.00	4.00	\$5.00		•	\$2.80	
23 Seed, 48, Type 2	SY	\$0.70	\$8.00	\$8.70	1.00	4.00	\$5.00			\$2.80	
24 Seed, 4B, Type 3	SY	\$0.70	\$5.00	\$5.70	1.00	2.00	\$3.00			\$2.80	
25 Seed, 48, Type 4	SY	\$0.70	\$3.00	\$3.70	1.00	0.50	\$1.50	-		\$2.80	
26 Seed, 48, Type 6	SY	\$0.70	\$2.00	\$2.70	0.70	0.50	\$1.20		•	\$2.80	
27 Seed, 48, Type 7	SY	\$0.70	\$1.50	\$2.20	0.70	0.50	\$1.20	-	<del></del>	\$2.80	
28 Mulch, Method 1, Type 1 (straw only)	SY	\$0.10	\$0.40	\$0.50	2.00	6.00	\$8.00	· -	•	\$6.50	
29 Mulch, Method 1, Type 2 (straw only)	SY	\$0.10	\$0.30	\$0.40	2.00	6.00	\$8.00		•	\$6.50	
30 Mulch, Method 1, Type 3 (straw only)	SY	\$0.10	\$0.30	\$0.40	1.50	3.50	\$5.00	-	•	\$6.50	
31 Mulch, Method 1, Type 4 (straw only)	SY	\$0.10	\$0.20	\$0.30	1.50	2.50	\$4.00		•	\$6.50	
32 Mulch, Method 1, Type 5 (straw only)	SY	\$0.10	\$0,15	\$0.25	1.50	1.50	\$3.00	· ·		\$6.50	
33 Mulch, Method 1, Type 6 (straw only)	SY	\$0.10	\$0.12	\$0.22	0.50	0.50	\$1.00	· ·	•	\$6.50	
34 Mulch, Method 1, Type 7 (straw only)	SY	\$0.10	\$0.10	\$0.20	0.50	0.50	\$1.00			\$6.50	
35 Mulch, Method 2, Procedure 2, Type 1 (crimped straw)	SY	\$0.10	\$0.50	\$0.60	2.00	6.00	\$8.00	· ·		\$4.25	
36 Mulch, Method 2, Procedure 2, Type 2 (crimped straw)	SY	\$0.10	\$0.50	\$0.60	2.00	6.00	\$8.00	·		\$4.25	
37 Mulch, Method 2, Procedure 2, Type 3 (crimped straw)	SY	\$0.10	\$0.50	\$0.60	1.50	3.50	\$5.00			\$4.25	
38 Mulch, Method 2, Procedure 2, Type 4 (crimped straw)	SY	\$0.10	\$0.50	\$0.60	1.50	2.50	\$4.00	· ·		\$4.25	
39 Mulch, Method 2, Procedure 2, Type 5 (crimped straw)	SY	\$0.07	\$0.50	\$0.57	1.50	1.50	\$3.00			\$4,25	
40 Mulch, Method 2, Procedure 2, Type 6 (crimped straw)	SY	\$0.08	\$0.38	\$0.46	0.50	0.50	\$1.00			\$4.25	
41 Mulch, Method 2, Procedure 2, Type 7 (crimped straw)	SY	\$0.08	50.25	\$0.33	0.50	0.50	\$1.00	-		\$0.00	
42 Mulch, Method 2, Procedure 3, Type 1 (straw/Hydromulch)	SY	\$0.50	\$2.95	\$3.45	2.00	5.00	\$8.00			\$3.00	
43 Mulch, Method 2, Procedure 3, Type 2 (straw/Hydromulch)	SY	\$0.50	\$2.95	\$3,45	2.00	6.00	\$8.00			\$3.00	
44 Mulch, Method 2, Procedure 3, Type 3 (straw/Hydromulch)	SY	\$0.50	\$2.50	\$3.00	1.50	3.50	\$5.00		•	\$3.00	
45 Mulch, Method 2, Procedure 3, Type 4 (straw/Hydromulch)	SY	\$0.50	\$2.00	\$2.50	1.50	2.50	\$4.00	-		\$3.00	
46 Mulch, Method 2, Procedure 3, Type 5 (straw/Hydromulch)	SY	\$0.25	\$1.20	\$1.45	1.50	1.50	\$3.00		•	\$3.00	
47 Mulch, Method 2, Procedure 3, Type 6 (straw/Hydromulch)	SY	\$0.50	\$1.70	52.20	0.50	0.50	\$1.00	-		\$3.00	
48 Mulch, Method 2, Procedure 3, Type 7 (straw/Hydromulch)	SY	\$0.30	\$1.25	\$1.55	0.50	0.50	\$1.00		•	\$3.00	
49 Excelsion Blanket, Type 1	SY	\$0.60	\$3.50	\$4.10	2.00	5.00	\$8.00		-	\$6.50	
50 Excelsior Blanket, Type 2	SY	\$0.60	\$3.50	\$4.10	2.00	6.00	\$8.00			\$6.50	
51 Excelsior Blanket, Type 3	5Y	\$0.60	\$3.50	\$4.10	1.50	2.50	\$4.00		•	\$6.50	
52 Excelsior Blanket, Type 4	SY	\$0.60	\$3.00	\$3.60	1.50	2.00	\$3.50			\$6.50	
53 Excelsior Blanket, Type 5	Ŀ	\$0.30	\$1.70	\$2.00	1.50	3.00	\$4.50	L		\$6.50	
54 Excelsior Blanket, Type 6	SY	\$0.55	\$1,40	\$1.95	0.60	0.90	\$1.50	· ·		\$6.50	
55 Excelsior Blanket, Type 7	SY	\$0.55	\$1.40	\$1.95	0.60	0,90	\$1.50	-	. :	\$6.50	
56 Sod, Type 1	SY	\$3.00	\$7.00	\$10.00	6.00	12.00	\$18.00		•	\$7.25	
57 Sod, Type 2	SY	\$3.00	\$6.00	\$9.00	6.00	12.00	\$18.00			\$7.25	
58 Sod, Type 3	SY	\$3.00	\$5.00	\$8.00	5.50	11.00	\$15.50			\$7.25	
59   Sod, Type 4	SY	\$3.00	\$3.50	\$6.50	5.50	11.00	\$16.50			\$7.25	



#### Bid Tabulation Citywide Landscaping Repair & Maintenance Program

.

Route Veries
County Kane, Kendall, DuPage, & Will
Local Agency City of Aurora

#### Proposals Received 7/18 at 5 p.m.

			W.E. Mundy Landscaping & Garden Center, Inc. 1135 Mitchell Rd., Suite 100 Autora, IL 60505			Sei	1275 Golfvier	w St.	RGL W, Inc. P.O. Box 3715 Joliet, II, 60435		
NO.	DESCRIPTION	UNIT	MATERIALS	LABOR*	FIXED UNIT PRICE	MATERIALS	Aurora, IL 60	FIXED UNIT PRICE	MATERIALS	LABOR*	FIXED UNIT PRICE
	Sod, Type 6	SY	\$3.00	\$2.00	\$5.00	4.00	10.00	\$14.00			\$7.25
	Sod, Type 7	SY	\$3.00	\$2.00	\$5.00	4.00	10.00	\$14.00			57.25
	Sod. Salt Tolerant. Type 1	SY	\$3.70	\$7.00	\$10.70	6.00	12.00	\$18.00			\$9.25
64		SY	\$3.70	\$6.00	\$9.70	6.00	12.00	\$18.00			\$9.25
	Sod, Salt Tolerant, Type 2 Sod, Salt Tolerant, Type 3	SY	53.70	\$5.00	\$8.70	6.00	11.00	\$17.00			59.25
		SY	\$3.70	\$4.00	\$7.70	6.00	11.00	\$17.00		- i-	\$9.25
	Sod, Salt Tolerant, Type 4	LF	\$2.25	\$2.00	\$4,25	2.00	2.50	\$4.50	- :	<del></del>	\$10.00
67	Sod, Salt Tolerant, Type S					4.00	10.00	\$14.00	<u>'</u>	<del>- :-</del>	\$9.25
68	Sod, Salt Tolerant, Type 6	SY	\$3.70	\$2.00	\$5.70		10.00	\$14.00	<del>                                     </del>	<del></del>	\$9.25
69	Sod, Salt Tolerant, Type 7	SY	\$3.50	\$2.00	\$5.50	4.00		512.00	_	<u> </u>	\$6.00
70	Topsoil Placement, Type 1	SY	\$3.50	\$7.00	\$10.50	6.00	6.00		- :		
71	Topsoil Placement, Type 2	SY	\$3.50	\$7.00	\$10.50	6.00	6.00	\$12.00			\$6.00
	Topsoil Placement, Type 3	SY	\$3.50	\$6.00	\$9,50	4.00	4.00	\$8.00	l		\$5.00
73	Topsof Placement, Type 4	SY	\$3.00	\$5.75	58.75	4.00	4.00	\$8.00	<u> </u>		\$6.00
74	Tapsail Placement, Type S	LF	\$1.00	\$1.00	\$2.00	2.00	2.00	\$4.00	<del></del>	:_	\$6.00
75	Topsoil Placement, Type 6	SY	\$3.00	\$4.00	\$7.00	3.00	3.00	\$6.00	<del>⊢ ·     </del>	· ·	\$6.00
76	Topsoil Placement, Type 7	SY	\$3.00	\$4.00	\$7.00	3.00	3.00	\$6.00	<u> </u>	· · ·	\$6.00
77	Pulverized Topsoil Placement, Type 1	SY	\$4.00	\$6.50	\$10.50	6.00	6.00	\$12.00			\$13.50
78	Pulverized Topsoil Placement, Type 2	SY	\$4.00	\$6.50	\$10.50	6.00	6.00	\$12.00	L .	٠.	\$13,50
79	Pulverized Topsoil Placement, Type 3	SY	\$4.00	\$5.00	\$9.00	4.00	4.00	\$8.00			\$13.50
80	Pulverized Topsoil Placement, Type 4	SY	\$4.00	\$4.50	\$8.50	4.00	4.00	\$8.00			\$13.50
31	Pulverized Topsoil Placement, Type 5	LF	\$1.00	\$1,00	\$2.00	2.00	2.00	\$4.00			\$13.50
82	Pulverized Topsoil Placement, Type 6	SY	\$3.50	\$3.75	\$7.25	3.00	3.00	\$6.00			\$13.50
83	Pulverized Topsoil Placement, Type 7	SY	\$3.50	\$3.75	\$7.25	3.00	3.00	\$6.00	· -	· ·	\$13.50
84	Supplemental Watering (Turf)	UNIT	\$5.00	\$100.00	\$105.00	0.00	0.00	\$150.00	· -		\$225.00
85	Supplemental Watering (Tree)	UNIT	\$5.00	\$995.00	\$1,000.00	0.00	0.00	\$150.00	· ·		\$225.00
86	Shade Tree, Type I (1-10)	EACH	50.00	\$100.00	\$100.00	175.00	300.00	\$475.00			\$450.00
87	Shade Tree, Type I, (11-50)	EACH	\$0.00	\$95.00	\$95.00	175.00	300.00	\$475.00			\$450.00
88	Shade Tree, Type II, (1-10)	EACH	\$0.00	\$155.00	\$155.00	175.00	300.00	\$475.00	· ·		\$450.00
89	Shade Tree, Type II, (11-50)	EACH	\$0.00	\$150.00	\$150.00	175.00	300.00	\$475.00			\$450.00
90	Groundcover and Annuals(1-10)	EACH	\$0.00	\$2.00	\$2.00	8.00	14.00	\$22.00			\$15.00
91	Groundcover and Annuals(11-50)	EACH	\$0.00	\$1.75	\$1.75	8.00	14.00	\$22,00	· .	-	\$15.00
92	Perennials (1-10)	EACH	50.00	\$6.00	\$6.00	8.00	14.00	\$22.00	h .		\$17.50
93	Perennials (11-50)	EACH	50,00	\$5.50	55.50	8.00	14.00	\$22.00	<del></del>		\$17.50
94	Shrub, Deciduous, Type I, (1-10)	EACH	\$0.00	520.00	\$20.00	30.00	33.00	\$63.00		<b>.</b>	\$70.00
95	Shrub, Deciduous, Type I, (11-50)	EACH	\$0.00	\$19.00	519.00	30.00	33.00	\$63.00			\$70.00
96		EACH	\$0.00	\$20.00	\$20.00	49.00	33.00	573.00			\$70.00
97	Shrub, Deciduous, Type II, (1-10) Shrub, Deciduous, Type II, (11-50)	EACH	\$0.00	\$19.00	\$19.00	40.00	33.00	573.00	<del></del>	<del>-</del>	\$70.00
		EACH	\$0.00	\$20.00	\$20.00	40.00	33.00	\$73.00		<del></del>	\$85.00
	Shrub, Evergreen, Type I, (1-10)	EACH	\$0.00	\$19.00	\$19.00	40.00	33.00	\$73.00	<del>- : -</del>	<del>- :-</del>	\$85.00
99	Shrub, Evergreen, Type I, (11-50)	EACH	\$0.00	\$20.00	\$20.00	50.00	33.00	\$83.00	1 · : ·	- <del>:-</del>	\$85.00
	Shrub, Evergreen, Type II, (1-10)	EACH	\$0.00	\$19.00	\$20.00	50.00	33.00	\$83.00	<del></del>	<del>-</del>	\$85.00
101	Shrub, Evergreen, Type II, (11-50)				\$19.00	50.00 175.00	33.00	\$475.00		<del>- : -</del>	\$350.00
	Evergreen Tree, Type 1, (1-10)	EACH	\$0.00	\$130.00	*******		300.00	<del></del>			
.03	Evergreen Tree, Type I, (11-50)	EACH	\$0.00	\$100.00	\$100.00	175.00		\$475.00	-:-	-	\$350.00
104	Evergreen Tree, Type II, (1-10)	EACH	\$0.00	\$130.00	\$130.00	175.00	300.00	\$475.00			\$350.00
105	Evergreen Tree, Type II, (11-50)	EACH	\$0.00	\$100.00	\$100.00	175.00	300.00	\$475.00	<u> </u>		\$350.00
106	Mulch, (Shredded Hardwood)	SY	\$2.80	\$3.35	\$6.15	0.00	5.50	\$5.50	<u> </u>		\$52.00
.07	Mulch, (Furnished by City)	SY	\$0.00	\$3.35	\$3.35	0.00	3.00	\$3.00	-	-	\$25.00
.08	Mawing	HOUR	\$0.00	\$50.00	\$50.00	0.00	70.00	\$70.00	<u> </u>		\$125.00
09	Spoil Removal	CY	\$0.00	\$50.00	\$50.00	0.00	75.00	\$75.00	-		\$35.00
10	Minimum Charge	EACH	\$0.00	\$35.00	\$35.00	0.00	250.00	\$250.00	-		\$150.00
11	Temporary Staging	CY	\$0.00	\$50.00	\$50.00	0.00	8.00	\$8.00			\$300.00
12	Non-Special Waste Disposal	TON	\$0.00	\$50.00	\$50.00	0.00	50.00	\$50.00	· ·		\$250.00
	Special Waste Disposal	TON	\$0.00	\$75.00	\$75.00	0.00	93.00	\$93.00	-		\$250.00



CITY OF LIGHTS

Route Varies
County Kane, Kendall, DuPage, 8 Will
Local Agency City of Aurora

#### posals Received 7/18 at 5 p.m.

		W.E. Mundy Landscaping & Garden Center, Inc. 1135 Mitchell Rd., Suite 100 Aurora, IL 60505			Semper Fi Land Services, Inc. 1275 Golfview St. Aurora, IL 50506			RGL II, Inc. P.O. Box 3715 Joliet, IL 60435		
DESCRIPTION	UNIT	MATERIALS	LABOR*	FIXED UNIT PRICE	MATERIALS	LABOR*	FIXED UNIT PRICE	MATERIALS	LABOR*	FIXED UNIT PRIC
Hourly Equipment and Labor Rates										
Operator										\$79.00
Dump Truck										\$58.00
Skid Steer				\$110.00						\$68.00
Mini Skid Steer										\$49.00
One Ton Dump Truck				\$63.00						
Five Yard Dump Truck				\$75.00						
Mini Terrain Loader				\$140.00						
Utility Loader Tractor with Rake				\$95.00						
Hydroseeder				\$100.00						
Skidsteer Tires							\$90.00			
Track Skidsteer							\$100.00			
Wheel Loader-Case 62SF							\$220.00			
Kubota Tractor - M6-11							\$150.00			
Kubota Tractor - 5700 W/Mower							\$80.00			
Mini Excavator							\$90.00			
60" Commercial Mower							\$25.00			
Labor										
Labor							\$45.00			\$69.00
Superintendents/Principal				\$95.00			\$60.00			
Landscape Foreman				\$70.00			\$50.00			
Lanscape Laborer				\$45.00						
Operator							\$50.00			
		Legend			S.Y. = Scuare Yar	rd				